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4 General Instructions to Candidates - N

* There is a ‘cool off time’ of 15 minutes in addition to the writing time of 274 hrs.

* You are not allowed to write your answers nor to discuss anything with others
during the ‘cool off time'.

* Use the ‘cool off time’ to get familiar with questions and to plan your answers.

° Head questions carefully before answering.

* All questions are compulsory and only internal choice is aliowed.

¢ When you select a question, all the sub-questions must be answered from the
same question itself.

 Calculations, figures and graphs shouid be shown in the answer sheet itself.
> Malayalam version of the questions is also provided.
e (ive equations wherever necessary.

* Electronic devices except non programmable calculators are not allowed in the
Examination Hall.
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J/ In a centrally planned economy all 1. ed (Bl @oaw@em moalwome
important decisions regarding L oladdiddesmm mumidaljaimnoid
production, exchange and OelaldBMo, all®nemo, oaleeomo
consumption are taken by _ OSETERAOD cfl.opas @leymom

6TBUD QG)SIEM@®

a) The Government a) @;?Zcém(i e aRe

D) The Market | b) ®emiog aljimoawosm

c) Either of (a) and (b) c) ‘@’ ewo ‘b’ ewo emer

d) The Central Bank (1) | d) @ (3 enUo8s06my (1)
| 2. 006y eeo5)eTgIsnIaw TV

(POOMI @YD) > 00 (o, ruajel oM
@15}l VO[O aG)MIETREM BT @

5. Classify the following under the
~ heads micro and macro economics

a) Govt. regulations on auto f 6 >,
emissions gji' a) oefllmleoemo ®SQIMEIMIas
D) Price elasticity of refrigerators WAL (R mEMETRHD.

c) Afamily’s decision about how b) Waflewenieges ale

. EDRIOMY] B> @,
much income to save .
| | | C) QVMIOBIO®D oenIul).o] 630)
d) Theimpact of higher National S0 IETOM @lamomo.
Savings on Economic Growth (2) d) @M Asd.0j0 Mosslom
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“ Usually a budget line slopes 0g)ETBOM erIoUflespaTy 2 (2)
downwards from left to right. State | 3. owroemmn s o MIRGe6 eI
any three reasons for the downward EDSEMTIOMI0 QURIGEMES 0 I6)6ermYss
slope of the budget line. (3) 1| DH06MBRIMNY. EDMIMRE aRe®EBepo
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4% decrease in

\/3/ When there was =

: N B A L e N
the price of 2 geod, the expenditure

s By e e e g g B A -
onihe goodincreases by 2%. What

lities of

Gen uéa’ﬁ:éf’@g the GDP of
a couniry by three methods. Also
axpia should

give us the same value of GDP. (8)
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average product schedule of labour.
Find the total product and marginal
product schedules. It is given that
the total product is zero at zero
level of labour employment.

Average Prod |
. ge Producl e | MP
of Labour -

. 13. Read the following statements :

a) Both demand and supply
curves shift in the same
direction.

b) Demand and'supply curves
shift in the opposite direction.

What will be the effect on equilibrium
guantity and price in these
situations 7 (5)
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:_ Units of | Average Product
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Suppose you are visiting a
Commercial Bank as a part of your
study. Prepare a field visit report
by highlighting the important
functions of a Commercial Bank. (4)

“Explain why the demand curve

facing a firm under monopolistic
competition is negatively sloped. (2)

. MPC + MPS =

(1)

Assume that there is a perfectly
competitive market for wheat. Can
you state the irnportant features of

(2)

this market ?

. “If all the people of the economy

increase the proportion of income
they save the total value of savings
in the economy will not increase —
it will either decline or remain
unchanged”’. Explain. Also give the

term used to refer this situation. (3)

11.

12.

13.

14.

15.
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Govt.
sanctioned Rs. 2 crore each to

Suppose the central

> states for making additional
nvestments. The MPC of these
5 states are given below" Fih'd "
multiplier and mulitiplier effect.

| Multiplier

States | MPC Multiplier effect on |
Kerala | 0.8
MP | 0.7 ] _'
™ | 06 | '
Assam | 0.5 ;
| Bihar L 0.4 L o

Ll
’ g
= “_?
4

rind out the maximum possible

output for a firm with zero (0) units
ot labour and 10 units of capital
wnen production function is

W= oL + 2K, | (1)

3. =uUppose there is no money in our

economy. Then how will the

takes place ? State important
difficulties of such a situation.

(3)

. Distinguish between the terms

stock and flow. Between net
nvestment and capital which is a
stock and which is a flow ? (3)

(5)
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16. @oWle: mlessal@slmnow)) @ s (12

OOUMODM 5 cvominomemsdss
06118) 83:0S| ytoallmo meprmeaums
(08> Lo N8, §0°0 cvocOoMeTREsE.
MPC @oey alowyo (10006
sl o adSleg @ (multiplier)
D@Sleg @D ansss (mulitiplier

effect) agorial EIETISOYT)) 5. (5}
| effect on
| Income
MP | 0.7 o |
™N | 06 | "
| Assam | 0.5
| Bihar | 0.4 _

nm%ﬂ

17. 981066 @M@l eloa @@

18.

afoMad® Q = 5L + 2K eooidon
G000 ‘O'yenily emoIdd vodmilao
10 @gerfly ayeicomapoe ©0 BRI
SO0 Mldedle60mM @Wlomaiono
CUWI HEIAITMO ag)®EWNT @enz)a NI
HENH5. (1}
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Q0RO af)eIBe M (DIW JDIHM) 7
HOEDOOIeRas Allallawarsied
G I0MOQBUD af)OmEIde 7

(3)

. BERODE)  ‘8Q0’ af)MIle® moomn |

OISO QLI® OTVETBWD af)PLmNb.
@og MletHal(net investment) M)A
WMo (capital) oMol
RO BIROBE) 7 agymosny Gooo 7 (3)
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59/ Complete the following equations

using the following terms.

Revenue expenditure, Total
expenditure, Net interest liabilities,
Non-debt creating capital receipts,
net borrowings

a) Revenue deficit =
r (—) Revenue receipts
b) Fiscal deficit =

Total expenditure — (Revenue
receipts + )

c) Primary deficit =
Gross fiscal deficit — (3)

9;. State whether the following
statements are true or false.

a) The Government imposed
upper limit on the price of a good
or service is called price fioor.

D) The demand curve is elastic
when marginal revenue has
a negative value. (2)

E;/ ‘Match the following :
A B
Perfect competition Two sellers
Monopoly
Oligopoly
Duopoly

A few sellers
Only one seller
Large number.

of sellers  (4)
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ScoRes
The rate of interest ‘ro’ In the

following figure indicates
a) Speculative rate

b) Realinterest

c) Liquidity trap

d) Liquidity preference

(1)

Distinguish between the nominal

exchange rate and the real
excnange rate. If you were to

decide whether to buy domestic

- gooas or foreign goods, which rate

N '

would be more relevant ? (3)

. Difterentiate between devaluation

(2)

and depreciation.

. 1t ‘GDP’ stands for nominal GDP
‘and ‘gdp’ stands for real GDP, then -

P
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25.
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6O ag)amy I TlesmMay agy
CORIOM @oSInnmE T alosny ? {3)

Aluoal yealadmd, alliamileaud
ag)Ml alB6TBUWD )06 @RAMmAMD
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26. ‘GDP’ ag)M@ Mommo@ (nominal)
GDP Deflator = ' QoI Fem_l(m@mcmg)o gdp’
QL@ (real) @ejmo el imm
) gdp COTO®I0 HHOM|B6)) £ WO6) M 551
a |
GDP - GDPleqgnnd = @em
_ 9cp o . -8 GDP ) gdp
- X100 ,- GDP
C) o c) 0dp x100 g HOMITDE]
‘d).Noneoftheabove (1) | o (1)
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